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Glacier2: 

Server EndPoints: 192.168.1.1:9999
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Firewall :  NewYork.com : 13500


IcePack Registry
Ice.Pack.Registry.Client.Endpoints=tcp -h 192.168.1.1 –p  9000
Ice.Pack.Registry.Server.Endpoints= tcp -h 192.168.1.1 –p  9001

    Ice.Pack.Registry.Admin.Endpoints= tcp -h 192.168.1.1 –p  9002

    Ice.Pack.Registry.Client.Endpoints= tcp -h 192.168.1.1 –p  9003

Ice.Pack.Registry.Client.PublishedEndpoints=tcp -h Paris.com –p 8000

Ice.Pack.Registry.Server. PublishedEndpoints =ssl -h Paris.com –p 8001

    Ice.Pack.Registry.Admin. PublishedEndpoints =ssl -h Paris.com –p 8002

    Ice.Pack.Registry.Client. PublishedEndpoints =ssl -h Paris.com –p 8003

Glacier2

A  Config.London

   Glacier2.SessionManager=L1SessionManager

   Glaicer2.PermissionsVerifier=L1Verifier
   Glacier2.Client.PublishedEndpoints=ssl –h London.com -p 13500

Glacier2.Client.Endpoints=tcp –h 192.168.1.1 –p 10000

       Glacier2.Server.Endpoints=tcp -h 192.168.1.1 –p 9999
  Ice.Default.Locator= IcePack/Locator: tcp –h Paris.com –p 8000
B  Config.NewYork

   Glacier2.SessionManager=N1SessionManager

   Glaicer2.PermissionsVerifier=N1Verifier

   Glacier2.Client.PublishedEndpoints=ssl –h NewYork.com -p 13500

Glacier2.Client.Endpoints=tcp –h 192.168.1.1 –p 10000

       Glacier2.Server.Endpoints=tcp -h 192.168.1.1 –p 9999
Ice.Default.Locator= IcePack/Locator: tcp –h Paris.com –p 8000
Node
    A config.London

   IcePack.Node.Name=London

   IcePack.Node.Endpoints=tcp 192.168.1.2 (?)
   IcePack.Node.PublishedEndpoints= ssl –h Londown.com –p 13500 (?)
Ice.Default.Locator= IcePack/Locator: tcp –h Paris.com –p 8000
   B config.NewYork1

   IcePack.Node.Name=NewYork1

   IcePack.Node.Endpoints=tcp –h 192.168.1.2

   IcePack.Node.PublishedEndpoints= ssl –h NewYork.com –p 13500 (?)
Ice.Default.Locator= IcePack/Locator: tcp –h Paris.com –p 8000
C config.NewYork2

   IcePack.Node.Name=NewYork2

   IcePack.Node.Endpoints=tcp –h 192.168.1.3

   IcePack.Node.PublishedEndpoints= ssl –h NewYork.com –p 13500 (?)
Ice.Default.Locator= IcePack/Locator: tcp –h Paris.com –p 8000
Client ( Suppose we want to visit the adapter ServerL1)

     Config.client

Ice.Default.Locator= IcePack/Locator: tcp –h Paris.com –p 8000

Ice.Default.Router=Glacier2/router: ssl –h Londown.com –p 13500 
Callback.Client.Router= Glacier2/router: ssl –h Londown.com –p 13500 
<icepack>

  <application name="MyApplication">

     <node name="London">


<server name="ServerL1" kind="cpp" exe="./server" activation="on-demand">


    <properties>



<property name="Ice.ThreadPool.Client.Size" value="4"/>


    </properties>


    <adapters>



<adapter name="ServerL1" endpoints="tcp:-h 192.168.1.2 ">



    <object identity="L1SessionManager" type="::MyApp::ChatSession"/>



    <object identity="L1verifier" type="::Glacier2::PermissionsVerifier"/>



</adapter>


    </adapters>


</server>


<server name="ServerL2" kind="cpp" exe="./server" activation="on-demand">


    <properties>



<property name="Ice.ThreadPool.Client.Size" value="4"/>


    </properties>


    <adapters>



<adapter name="ServerL2" endpoints="tcp -h 192.168.1.2">



</adapter>


    </adapters>


</server>

    </node>

    <node name="NewYork1">


<server name="ServerN1" kind="cpp" exe="./server" activation="on-demand">


    <properties>



<property name="Ice.ThreadPool.Client.Size" value="4"/>


    </properties>


    <adapters>



<adapter name="ServerN1" endpoints="tcp -h 192.168.1.2">



    <object identity="N1SessionManager" type="::Chat::ChatSession"/>



    <object identity="N1verifier" type="::Glacier2::PermissionsVerifier"/>



</adapter>


    </adapters>


</server>

    </node> 

    <node name="NewYork2">


<server name="ServerN2" kind="cpp" exe="./server" activation="on-demand">


    <properties>



<property name="Ice.ThreadPool.Client.Size" value="4"/>


    </properties>


    <adapters>



<adapter name="ServerN2" endpoints="tcp -h 192.168.1.3">



</adapter>


    </adapters>


</server>

    </node> 

 </application>

</icepack>
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